


































WCET(𝑚) Calculation 
accounting for resource partitioning 
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Response Time 
reusing a well-known approach 

8 

WCET(𝑚)𝑖 +  
𝑅𝑖(𝑘)

𝑇𝑗
𝜏𝑗∈ℎ𝑝(𝑖)

WCET(𝑚)𝑗 + 𝐵𝑀𝐺  

𝑅𝑖(𝑘 + 1) = 

𝐶𝑖 + 𝜇𝑖 ⋅ 𝐿𝑠𝑖𝑧𝑒
𝑚

𝐵𝑊𝑚𝑖𝑛
−
1

𝐵𝑊𝑚𝑎𝑥
 

WCET(𝑚)  𝑖  



SCE Validation 
using COTS hardware 
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SCE Validation 
WCET(m) bound 
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SCE Validation 
WCET(m) bound 
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SCE Validation 
WCET(m) sensitivity 
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SCE Validation 
WCET(m) sensitivity 
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SCE Validation 
WCET(m) sensitivity 
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SCE Validation 
WCET(m) sensitivity 
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SCE Validation 
WCET(m) sensitivity 
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Select m, SCE provides a constant WCET(m) 1 

Resource partitioning at OS-level, use on COTS 2 

Reuse single-core software & practices 3 

Summary 
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